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Problem quickname: 3913

b

Draw a triangle with the given dimensions. Measure the size of angles «, 5 and 7.
Measure the lengths of the sides a, b and c.

Quick:
3913

a) a=4.8cm,b=6cm,c=2cm
a=48cm,b=06cm, c=2cm
a = 44 degrees, f = 119 degrees, v =
17 degrees

b) ¢ =6 cm, = 31 degrees, a = 7.7 cm
a="77cm,b=4cm,c=06cm
a = 98 degrees, § = 31 degrees, ¥

51 degrees
C
a
b
« B
A C

¢c) a=6.8cm,b=4cm, c=4cm
a=68cm,b=4cm,c=4cm
a = 116 degrees, f = 32 degrees, v =
32 degrees
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d) B = T78degrees, a = 39cm, v =
52 degrees

a=39cm,b=5cm, c=4cm
a = 50 degrees, 8 = T8 degrees, v =
52 degrees

Quick:

2)
3913
Draw a triangle with the given dimensions. Measure the lengths of the sides a, b and c.
a) B = 65degrees, a = 3.4cm,

v = 65 degrees
a=34cm,b=4cm,c=4cm

b) a = 44 degrees, ¢ = 4 cm, § = 68 degrees C
a=3cm,b=4cm,c=4cm

c) 7 = 53 degrees, b = 3 cm, a = 104 degrees
a="73cm,b=3cm,c=06cm
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d) a=6.5cm, b=5cm, c=3cm C

a=65cm, b=>5cm, c=3cm

3)
Draw a triangle with the given dimensions. Measure the size of angles a;, 5 and 7.

a) B = Oldegrees, a = 57cm, v =
31 degrees a = 88 degrees, = 61 degrees,
v = 31 degrees
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b)a = 68cm, b = Hcm, ¢ = 3em o
o = 114 degrees, f = 42 degrees, v =

24 degrees
a
b
a B
A c
c) v = 55 degrees, b = 6 cm, o = 46 degrees C

a = 46 degrees, § = 79 degrees, v =
55 degrees

A ¢ B

d) ¢ = 2cm, § = 54 degrees, a = 6.9 cm
a = 110 degrees, f = 54 degrees, v =
16 degrees
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4) |
- Quick:
3913

Draw a triangle with the given dimensions. Measure the lengths of the sides a, b and c.

a) v = 38 degrees, b = 3 cm, a = 104 degrees
a=47cm, b=3 cm,c=3cm

b) a = 61 degrees, ¢ = 5 cm, § = 81 degrees C
a="T71cm b=8cm,c=5cm

c) B = 24 degrees, a =
v = 88 degrees
a=46cm, b=2cm,c=>5cm b a
Q
A c " B
d) B = 26degrees, a = 6.8 cm,

v = 62 degrees
a=068cm,b=3cm,c=06cm
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A C
Good Luck!
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